

$$\alpha = 3\beta$$

$$\frac{c}{a} = \alpha \cdot \beta \Rightarrow \frac{K}{3} = 3\beta^2 \rightarrow 9\beta^2 = K \Rightarrow \beta = \pm \sqrt{\frac{K}{9}} \text{ و } \alpha = \pm 3$$

$$\frac{a}{3} = \begin{cases} \frac{K}{3} + 3 = \frac{K}{3} \\ -\frac{K}{3} - 3 = -\frac{K}{3} \end{cases}$$

$$\alpha = \pm 1 \Rightarrow \text{اختلاف دو مقدار} = 1 + 1 = 2$$

$$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = \omega \frac{K}{3} \Rightarrow \frac{\beta + \alpha + \sqrt{\alpha \cdot \beta}}{\sqrt{\alpha \cdot \beta}} = \omega \frac{K}{3} \Rightarrow \frac{m+1K+1K}{3K} = \frac{K}{3K} \rightarrow m = -1$$

$$-21\alpha^2 + 3\alpha + 2 = 0 \rightarrow \alpha = -2$$

$$\begin{cases} \alpha + \beta = 1 \\ \alpha \cdot \beta = -2 \end{cases} \Rightarrow (1-\beta)\beta = -2 \Rightarrow \beta^2 - \beta - 2 = 0 \rightarrow \beta = 2 \text{ و } \alpha = -1 \text{ یا } \beta = -1 \text{ و } \alpha = 2$$

$$\xrightarrow{\beta=2} 3K + 4K - 11 - 2 = 0 \rightarrow K = -3$$

$$\xrightarrow{\beta=-1} -K + K + 9 - 2 = 0 \rightarrow K = -3$$

$$\Delta = 3K - 4a \Rightarrow \alpha = \frac{-9 \pm \sqrt{3K - 4a}}{2} = \begin{cases} -3 + \sqrt{9-a} = \beta \\ -3 - \sqrt{9-a} = \alpha \end{cases}$$

$$3(-3 - \sqrt{9-a})^2 + 2(-3 + \sqrt{9-a})^2 = 12\sqrt{9-a} + 10 \Rightarrow 3(11 - 6\sqrt{9-a} + 9-a) + 2(11 - 6\sqrt{9-a} + 9-a) = 12\sqrt{9-a} + 10$$

$$\xrightarrow{\text{فصل ۳}} 11\sqrt{9-a} - 12\sqrt{9-a} = 12\sqrt{9-a} \rightarrow \sqrt{9-a} = \sqrt{11} \rightarrow 9-a = 11 \rightarrow a = -2$$

$$x^2 = 2 \rightarrow x^2 - 2x - 3 = 0 \rightarrow x = \frac{2 \pm \sqrt{4+12}}{2} = \frac{2 \pm 4}{2} = -1 \text{ و } 3$$

$$x_1 = \frac{-2 + \sqrt{49}}{2} = \frac{5}{2} \text{ و } x_2 = \frac{-2 - \sqrt{49}}{2} = -\frac{7}{2}$$

$$\Rightarrow 2x_1^2 - 3x_1 + 5 = 2x_2^2 \Rightarrow 2\left(\frac{25}{4}\right) - 3\left(\frac{5}{2}\right) + 5 = 2\left(\frac{49}{4}\right) - 3\left(-\frac{7}{2}\right) + 5 = 2\left(\frac{49}{4}\right) - \frac{21}{2} + 5 = \frac{49}{2} - \frac{21}{2} + \frac{10}{2} = \frac{38}{2} = 19$$

$$\alpha = \frac{1}{p} + \alpha' \Rightarrow \alpha \cdot \beta = \left(\frac{1}{p} + \alpha'\right)\left(\frac{1}{p} + \beta'\right) = \frac{1}{p^2} + \frac{\alpha' + \beta'}{p} + \alpha'\beta' = -3 = \frac{b}{p}$$

$$\alpha + \beta = \frac{1}{p} + \alpha' + \frac{1}{p} + \beta' = \frac{2}{p} + \alpha' + \beta' = \frac{2}{p} + \frac{1}{p} = \frac{3}{p} = \frac{a}{p}$$

$$\left[\frac{a}{p} \times \frac{b}{p}\right] = \left[\frac{1}{p} \times -3\right] = -3$$

$$\begin{aligned}
 & q^r - (a+1)q + a = 0 \Rightarrow \frac{\sqrt{\Delta}}{|a|} = r \rightarrow \frac{\sqrt{a^2 + a + 1 - 4a}}{1} = r \rightarrow \frac{\sqrt{a^2 - 3a + 1}}{(a-1)^2} = r \rightarrow |a-1| = r \quad -1 \\
 & \quad \quad \quad a = 3 \\
 & q^r - \frac{(r^2 + 1)}{10} q + b = 0 \Rightarrow \frac{\sqrt{\Delta}}{|a|} = r \rightarrow \sqrt{100 - 4b} = r \rightarrow r\sqrt{10 - b} = r \Rightarrow D - a = r^2 - \frac{1}{10} \quad \downarrow \\
 & \quad \quad \quad b = 24 \Rightarrow D - a = r^2 - \frac{1}{10} \quad \downarrow \\
 & \quad \quad \quad \text{في طرفه 3 - ايشه آن وقت ايشه ما} \\
 & \quad \quad \quad \text{مصحح من شد}
 \end{aligned}$$

$$y = a n^r + b n + c \xrightarrow{B_9 A} 9a + 17b + c = 10a - 10b + c \quad -10$$

$$\begin{aligned} & -\frac{b}{ra} = -1 \\ & -\frac{A}{ra} = 1 \end{aligned} \quad \begin{aligned} & 19 a = 1b \rightarrow b = ra \\ & \Rightarrow y = a(q-h)^r + K \end{aligned}$$

$$\left. \begin{aligned} y &= a q^r + r a q + a + 1 \\ q^r + p^r &= w = s - rp \end{aligned} \right\} \rightarrow (-r)^r - r \left(\frac{a+1}{a} \right) = a$$

$$a = -\frac{r}{p^r} \rightarrow C = a + 1 = -\frac{r}{p^r} + 1 = \frac{1}{p^r}$$